Inlet covers TE10P

TE10P L.S. Inlet cover with priority
Interface IBW1022 - IBW1033 - IBWO0500 - IBW0511 -
Port T - TE10C

Prior to use, carefully read the document GENERAL USE INSTRUCTIONS FOR
DIRECTIONAL CONTROL VALVES

BONDIOLI 398SBWO010ENO1 - 23-07-2019 1
& PAVESI E’]



TE10P

Technical data

: 120 I/min
Nominal flow rate 31.7 US gpm
, 80 I/min . . TS .
Regulated nominal flow rate 21.1 US gpm i
|
|
Nominal pressure ggg;g;i i
|
|
|
. 50 bar ]
Maximum tank pressure 725 psi i
|
_ -20°C +85°C NBR seals } !
Operating temperature (max peak +100°C) ] LS2
-20°C + 130°C HNBR seals ! |
from 15 mm2/s to 90 i 7777777777 PR
Operating oil viscosity mm?2/s ! i
(15 ¢St to 90 cSt) g - | !
Hydraulic fluids defined Uiy
Fluid by the ISO 6743-4 ‘
standard EX
: 7K
Weight 15.43 Ib il
IBW1022 - IBW1033 - - - - - L
Interface IBW0500 - IBW0511 - Port P
T-TE10C
Overall dimensions
65[2.56] 161[6.34] 78.5[3.09] 23.5[0.93]
32.5[1.28] 32.5[1.28] 78.5[3.09] 82.5[3.25] 37[1.46] ‘ 41.5[1.63]
| - LS2
I [ozebze] =e
= Ls g P
o Qi TN 1waspoz LS
o 0 _—
©' Ye] — ©
(o] [ce]
0, Q s
Vo] "0 [l
S 5,
T S
62.5(2.46]
57.5[2.26]
S —]
@ )

PR = Priority EX = Excess

92.5[3.64]
87.5[3.44]

90[3.54]

102[4.02]

2

398SBWO010ENO1 - 23-07-2019

BONDIOLI
& PAVESI

o)



Characteristic curves TE10P

Pressure drops P - T

_ T0|L = 50°C
VoL = 21 mm?/s |

**********************************************************************************************

****************************************************************************************************************

120
[I/min]

Test parameters with standard spring

Electro-proportional actuator

[I/min]
100

90

[ Tow = 50°C
FvorL = 21 mmé/s --

80
70
60
50
40
30
20
10

0

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

,,,,,,,,,,,

PWM =100 Hz

Manual adjustment

[I/min]

100
90
80
70
60
50
40
30
20
10

| Max=2300 mA 12V (+ 100 mA)

| Max=1200 mA 24V (+ 100 mA)

T T
[ Tow = 50°C

|
cposoo
I

FvoL = 21 mm2/s "F””

,,,,,,,,,,

,,,,,,,,,,

,,,,,,,,,,

,,,,,,,,,,

,,,,,,,,,,

,,,,,,,,,,,

BONDIOLI
& PAVESI

o)

398SBWO10ENO1 - 23-07-2019



TE10P Right and left side of the cover

Definition of the right and left side of the cover

[R]

LS2

LS

PR

@ Right side Left side

The right and left sides of the cover, as shown in the drawing, are defined with respect to the position of the
port P.

4 398SBWO010ENO1 - 23-07-2019 BONDIOLI
& PAVESI I'g



Configurations TE10P

| A | PRright side - EX left side

161[6.34] - o ]
78.5[3.09] 82.5[3.25] | i |
- . LS2 |
Ls R Ls |
° O o ) ¢ 5 Qo |
(@] 0| (@]
EX “pw b o ] PR
& ) iy & 9
T1 ® T2
PR left side - EX right side
161[6.34] [ B T . o
78.5[3.00] 82.5[3.25] ‘ | ‘
LS1 i
) ) e T——%
LS ). P o, P 1WASPO2 LS PR —* " 1 ' Ex
LS+ 8 8 75 } } i — ]<
° 09 5 R o i
PR 5| o J EX {*“%
o © o "l o o T [E |
T4 © T2 T - — T2
P
PR right side - EX to tank
161 [6.34] —- -—F = -
87.5[3.44] 73.5[2.89] 78.5[3.09] 82.5[3.25] ‘ i ‘
_ . Ls2 |
o' - e | = e Ls2
2 LS 2P 8 Pl LS I —
= e SC I - o e
DATA E’ g, ) PR Ly 77% EX
g 0 { e % & - =
E T @ T2 T L7 L _ 7J T2
<~ P
BONDIOLI I_:.] 398SBW010ENO1 - 23-07-2019 5
& PAVESI



Actuators

TE10P

@ No actuator

g g n
j W X% » 14
[ , | = [
Lo
, , A
| |
@ LT &
- i W‘ﬁ
He=—————==== q=====-= ,
W
b |
|
W -
| | 11
| e th‘,
L = |l
- - - e
Pﬁ =
g [
& =
0 9
3| © ©
S,
o 3 o)
B D
<
5 2
(7))
|
[eev]oLE S8 L] Y
‘o'
(o]
S,
0 —
5 Pﬁ o
©
@ I ~ )
0 (™ -+
o ) )
9 ©
©
ey -
= et ve S
0
hon [¥8¥]ecl =
[819].G1 @

-4 N
. . £ . _L
,ﬂ nl- 4
|
I
| - ,P
4 =7
Hp========== = bx =4 =
S |
=
| A4
| | 11
| 6 LJWP;,‘,
L =
a a a a e
[16°0]€2
[L€79]8 9L =
S
D] =2
N ﬂ
@l % S
1k J )
=3
~ O
33 H r
Te)
w s
si -
|
‘o'
o
o
Ty [veL]veD
- Pr
N
g
ST EE S
= \—
©
@ D
©
) [6'€]66
¥ [8e'€]8'S8 [v8v]cet
[22'8]8'802

E Electro-proportional actuator

[eev]OLL

[g8° L] L1

—
o
@
&N
0
)
N~
—
[N
5
2,
2w
D 0
o | -
N ©,
g
0
©
-
Ipol
™
0
(=]
=
Lo
%]
8
‘©'
0
ol
&y
0
©
—
™
©
!
0
~—
<

[veL]ve

[v8v]cel

[81°9]/G1

ZoMRIeY 19)

398SBWO010ENO1 - 23-07-2019



Manual actuator options TE10P

With handwheel @ Screw with hexagonal Allen head
MAX 189.3[7.45] MAX 188.6 [7.43]
87.5[3.44] MAX 101.8[4.01] 87.5[3.44] MAX 101.1[3.98]
[ ]
‘o )
8 &
1 P 1
N N
S S S =
@) @ &
— o = =
g N 8
5 T ) [ 5
T = .
<
% g o5 3
g 019 &
BONDIOLI I_:.] 398SBW010ENO1 - 23-07-2019 7
& PAVESI



TE10P

Electro-proportional actuator emergency

@ Manual override, free-back

239.3[9.42] 65[2.56]
165.8[6.53 ] 73.5[2.89] 32.5[1.28] 32.5[1.28]

3 _ LS =
M 3
= =] 2] s
2 S .
2 HiE
s

S, S

LO | E—

w S

M = Emergency in thrust with free-back

Electrical characteristics of the electro-proportional actuator coil

Voltage 12 24 V (+ 10%)
Resistance 3,67 16,7 Q (+ 5%)
Maximum 2300 1200 mA (+ 100)

PWM 100 100 Hz

398SBWO010ENO1 - 23-07-2019

BONDIOLI
& PAVESI

o)



Interface left side TE10P

| A |IBW1022 IBW1033

IBWO0500 | D |IBW0511
= p LS1 &) —r— -
| — P
LS LS
o O Ls+ o X Ls+
@@ PRE E/
- IDATA @ @ °FG DATAf] .- O °FG
i 5 T =p °
T '
| E |PortT

BONDIOLI I_:.] 398SBWO010ENO1 - 23-07-2019 9
& PAVESI



TE10P Interface right side

IBW1022 IBW1033
P
Y 1waspoz LS
PR - EX
(@ )=
FON. g T2
IBWO0500 | D |IBW0511
LS2
P P
T 1WASP02 LS Y 1WASP02 LS
o 1 o
° : :
© O%=—~_PR - EX 6_@\—( %=~ PR - EX
| FON. 1\ E FON. B E
10 398SBWO010ENO1 - 23-07-2019 BONDIOLI
& PAVESI I'g



Interface right side TE10P

TE10P + TE10C

LS1
)
P1
CD o
T DATA , 5 T 1

| TE10P | [ TE10C |

TE10P + TE10C - Hydraulic scheme

i

|

|

|

L Ls2
P2

T2

The option with interface E makes it possible to combine the priority TE10P cover with the compensated
TE10C cover.

BONDIOLI I_:.] 398SBWO010ENO1 - 23-07-2019 11
& PAVESI



TE10P Bracket height
@ High @ None

116[4.57]
116[4.57]

157[6.18]
151.5[5.96]

41[1.61]
35.5[1.4]

12 398SBWO010ENO1 - 23-07-2019 BONDIOLI
& PAVESI I'g



Thread ports

TE10P

Thread port P

Thread port T

Code Type Tightenm‘g‘] +=10% Code Type Tightenﬁr:g +10%

1/2" GAS ISO 1179 70 0| None

E 3/4" GAS 1SO 1179 150 With interface E

'N| M22x1.5 ISO 9974 70 1/2" GAS ISO 1179 70

M22x1.5 1SO 6149 70 E 3/4" GAS 1SO 1179 150

' 5] M27x2 ISO 9974 150 N | M22x1.5 1SO 9974 70

@ M27x2 ISO 6149 150 M22x1.5 ISO 6149 70

@ 7/8" - 14 SAE ISO 11926 70 E M27x2 1SO 9974 150

1" 1/16 - 12 SAE ISO 11926 150 ‘U | M27x2 150 6149 150
E 7/8" - 14 SAE ISO 11926 70
1" 1/16 - 12 SAE ISO 11926 150

Thread on port LS
Code Type Tighten'&r:‘% +10%
1/4" GAS I1SO 1179 o7
@ M14x1.5 ISO 9974 27
E M14x1.5 ISO 6149 27
E 9/16" - 18 SAE ISO 11926 27

BONDIOLI
& PAVESI

o)

398SBWO010ENO1 - 23-07-2019

13



TE10P Gauge port

MP - Gauge port

MP
P
P
LS
LS+
& o©
@ DATA °FG
=((O) Q)
d LT
> 1 [y
Thread port MP
Code Type Tighten'&r:g +10%
|I| Not machined
1/4" GAS I1SO 1179 o7
@ M14x1.5 ISO 9974 27
E M14x1.5 1SO 6149 27
E 9/16'" - 18 SAE ISO 11926 27
14 398SBWO010ENO1 - 23-07-2019 BONDIOLI I_g
& PAVESI



TE10P

Type of LS line unloading valve

m Drain valve

[6.34]

161

o
j W X » 4
I | w |
Lo
, , o
| |
| ! | &
W =7 =
He===—====== M ,
S |
|
W e
| 11
- - - ok
Pﬁ =
g [
ﬂ. &Y
5 )
= ©
= ®
o <
2 :
B C
A
|
[0l 0k
[eev]oLL  [S8L] LY
'w'
Y
)
[9V]
@7}

65[2.56]

32.5[1.28]

[veL]ve

[v8v]cet

[81'9] /Gt

ON-OFF drain valve

g £ o
B | el
| LT u [

Lo
, , =
| |
ol i ! ic
- W =T
He========== S=====-= , EML
|
A ,
|
B .
| | J,
| R TW&.‘,
N |
@ -
Pﬁ [
g A
ﬂ &Y
3 5 °
<,
= ©
= e
o <
) | 2
3 C
™ (/]
- -l

¢ O

o [¥6°0]t2

[98v]|seet  [S8'}]L¥

@'
N
©
[9V]
™

Q'

0

&,

19

©

£

™

= [L8°L]S LY

rs

& [v8°v]€2)
[12°9]S°0L)

@ With unloading valve

189.2(7.45]

65[2.56]

.
% o
@
5 |
\
|
mﬂw :
o
9]
q
|
[svz]ez9 [26°€]566
[2€9]8° 191 [68°L] LY
‘@'
Y
w
(9V)
[sp]
‘@'
N
w
o [8e°€]8's8 [v8v]eet
[2Z2'8]8'802

15

398SBWO010ENO1 - 23-07-2019

ZopRieL 19)



TE10P

Type of LS line unloading valve

|I| Replacement cap
65[2.56] 157.5[6.2] _ __ s _
[ } ]
32.5[1.28] 32.5[1.28] 87.5[3.44]  70[2.76] | | |
= |
©, |
© 3 1
E—— 1
_ fm===== R Ls2
— 8 o LS - L PR
g |3 5 o 0 S S
g3 o HECo | 0 |
o 2| <2 S -2 N O | | R S A = VRN Sl
15_’3 o @ DATA g ' J% EX
it g & < R |
~ T — — — T2
S P
16 398SBWO010ENO1 - 23-07-2019 BONDIOLI

& PAVESI

o)



Emergency unloading valve on LS line

TE10P

@ Standard terminal
50[1.97] 37.5[1.48]
o |
o, |
N
5 ©
S, P
©| o
=l @
© o ) LS+
Ty © ©
3
DATA,
O

@ Manual override with screw

192.7[7.59]

MAX 93.2[3.67]

99.5[3.92]

50[1.97] 37.5[1.48]
SINEI8) —
P
N
o | oI

47[1.85]

Electrical characteristics of the unloading valve coil

Voltage 12 24 V (= 10%)
Resistance 7.7 32 Q (& 7%)
Rated current 1,55 0,75 A
Power 18,6 18 W
BONDIOLI 398SBW010ENO1 - 23-07-2019 17

& PAVESI

o)



TE10P Instructions for ordering

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
1 Configurations
A PRright side - EX left side B PR left side - EX right side C PRright side - EX to tank
2 Actuators
N No actuator M Manual actuator P  Electro-proportional actuator
3 Actuator options
N None B 24V 43650 DIN H 24V DEUTSCH DT04-2P M porew with hexagonal Allen
A 12V 43650 DIN G 12V DEUTSCH DT04-2P V  With handwheel
4 Type of actuators emergency
N None M Manual emergency, free-back
5 Interface left side
A IBW1022 C IBW0500 E PortT
B I1BW1033 D 1BW0511
6 Interface right side
A IBW1022 C IBW0500 F TE10C
B 1BW1033 D [BW0511
7 8 Bracket height
NN None H3 High
9 Thread type
F Female
10 Thread port P
B 1/2" GASISO 1179 N M22x1.51S0 9974 5 M27x2ISO 9974 R 7/8"-14 SAEISO 11926
F 3/4"GASISO 1179 J  M22x1.51S0 6149 U M27x21SO 6149 V 1"1/16-12 SAEISO 11926
11 Thread port T
0 None N M22x1.51SO 9974 U M27x21SO 6149
B 1/2"GASISO 1179 J  M22x1.51S0 6149 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 5 M27x21S0O 9974 V 1"1/16-12 SAEISO 11926
12 Thread port LS
L 1/4" GASISO 1179 3 M14x1.51S0 9974 K M14x1.51SO 6149 P 9/16" - 18 SAEISO 11926
13 Options on LS port
A Open B Plugged
18 398SBWO10ENOT - 23-07-2019 BONDIOLI | :].
& PAVESI



Instructions for ordering

TE10P

16 17 18 19 20

14 Thread port MP
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAE ISO 11926
L 1/4" GASISO 1179 K M14x1.51S0 6149
15 Options on port MP
N None A Open B Plugged
16 Type of LS line unloading valve
I Drain valve N Replacement cap B 24V DIN 43650 H 24V DEUTSCH DT04-2P
L ON-OFF drain valve A 12V DIN 43650 G 12V DEUTSCH DT04-2P
17 Emergency unloading valve on LS line
N None O Standard terminal S Manual override with screw
18 19 Type of pressure relief valve
00 Replacement cap VMP 10 100 bar 16 160 bar 22 220 bar
05 50 bar 11 110bar 17 170 bar 23 230 bar
06 60 bar 12 120 bar 18 180 bar 24 240 bar
07 70 bar 13 130 bar 19 190 bar 25 250 bar
08 80 bar 14 140 bar 20 200 bar
09 90 bar 15 150 bar 21 210bar
20 External treatment
|:| N None Z Zinc plating
398SBWO010ENO1 - 23-07-2019 19

ZopRieL 19)
_DINOIL |



